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8 |RIEFthERA 1,151 1 3 3 0 6 1 5 6] 1,152 1| 0.09
9 EERREE 1,516 -1 5 1 0 6 6 3 9] 1,518 2| 0.13
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12 |[HEE/NER 3,097 -3 1 5 00 16 8 2. 10| 3,088 -9] -0.29
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18 MEANELZ— 452 0 0 5 0 5 1 0 1 448 -4| -0.88
19 XHBEBRELL2—5E 1,312 1 0 5 0 5 1 0 1 1,309 -3| -0.23
20 ZEDOM=EE 489 2 0 3 0 3 1 0 1 489 0| 0.00
21 EAmMREARE 2,312 1 3 6 0 9 4 1 5( 2,309 -3| -0.13
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25 | B¥g/NEERR 957 0 7 2 0 9 2 1 3 951 -6] -0.63
260 HBHRXRLARE 645 0 3 1 0 4 0 2 2 643 -2| -0.31
27 LR A REE 302 0 1 1 0 2 0 0 0 300 -2| -0.66
28 MEFLARE 104 0 1 1 0 2 0 0 0 102 2| -1.92
29 | KEEEEE 1,445 -2 3 3 0 6 2 4 6| 1,443 2| -0.14
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